Whitman College

Econ 308

Exam 3

November 3, 2006

Write your answers in your blue book.  Show all of your work.  The exam ends at 10:50.

1.  Consider the United States macroeconomy.

(a)  (5pts)  What current U.S. macroeconomic conditions might make the Federal Open Market Committee (FOMC) decide to implement tighter monetary policy?  Be specific in your answer.

(b)  (15pts)  What tool would the FOMC use if it decided to implement tighter monetary policy?  Describe what the FOMC would do if it decided to tighten.  

(c)  (5pts)  What current U.S. macroeconomic conditions might make the FOMC decide to implement looser monetary policy?  Be specific in your answer.

(d)  (15pts)  What tool would the FOMC use if it decided to implement looser monetary policy?  Describe what the FOMC would do if it decided to loosen.  

2.  (a)  (5pts)  Define the classical dichotomy.

(b)  (10pts)  Does the Quantity Theory of Money presume that the classical dichotomy holds?  Explain your reasoning.

3.   Consider the Keynesian Cross (Income-Expenditure) Model.  Suppose that real aggregate output drops by 250, due to a change in aggregate planned investment expenditures.  

(a)  (10pts)  By how much did planned investment expenditures change, in order to cause this drop in output?  Explain your work.

(b)  (5pts)  According to Keynes, what is a likely cause for the change in investment expenditures you described in part (a)?

4.  Consider the following information about Country D (the domestic country) and Country F (a foreign country).  Assume that the Fisher equation holds, and that Purchasing Power Parity holds.

At the end of 2004: Country D had a Consumer Price Index (CPI) of 105, an annual nominal interest rate of 12.5%, and everyone predicted that Country D’s CPI would be 116 by the end of 2005.  

At the end of 2004: Country F had a Consumer Price Index of 200, an annual nominal interest rate of 8.0%, and everyone predicted that Country F’s CPI would be 214 by the end of 2005.  

At the end of 2004: Country D’s exchange rate was 4.82.  (In other words, 4.82 units of F’s currency would buy one unit of D’s currency.)

(a) (5pts) What was the expected annual real interest rate in Country D for loans negotiated at the end of 2004?

(b) (5pts) What was the expected annual real interest rate in Country F for loans negotiated at the end of 2004?

(c)  (5pts)  At the end of 2004, what did people predict would be Country D’s exchange rate one year later?  (In other words, how many units of F’s currency did people predict it would take to buy a unit of D’s currency?)

The actual CPI in Country D at the end of 2005 was 122, and the actual CPI in Country F at the end of 2005 was 210.  

(d)  (5pts)  What was the actual annual real interest rate in Country D for loans negotiated at the end of 2004?

(e) (5pts)  What was the actual annual real interest rate in Country F for loans negotiated at the end of 2004?

(f) (5pts)  What was Country D’s exchange rate at the end of 2005?   (In other words, how many units of F’s currency did it take to buy a unit of D’s currency?)

